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2 mEHR
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15 HER (%) G bBEE AEE 3FE 285E
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(2)2FLUTITHBMA TSN -ELEHIL, BHUAE. RE. BRM., HEMIZLDDDTY,

AR (%) GEE bLEE 4FE
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THEFERFZREMR( Lk )

(HM6E12A318IR#AE)

I ®REHE

1 KFEDDEXK (FREEHE) (Bf3L: o)
F 23 BRENE 1 % 2 % 3 % st
6 F &E 647,102 81.8% 15.5% 1.6% 1.1%
5 &£ B 665,753 37.7% 37.7% 22.4% 2.3%
4 F E 680,896 79.1% 18.9% 1.0% 1.0%
3 & @& 689,440 84.3% 14.0% 0.8% 0.9%
2 & E 713,598 78.8% 18.9% 1.4% 0.9%
T FOE 711,300 55.6% 37.9% 5.2% 1.3%

CENEBEEICLIOIREREZRVE=EETT,
CE2) TEEMSSFEICOVTIE. AP OBREERETT,
CEI) SV DEBRTHENRDEHA—HBLLENIEAHYET, (LLTRL)

2 HWABIEE (FRiEE) (AL b))
iz 4 BREYE 1 % 2 % 3 % Higst
a3 Y kb A Y 359,552 78.6% 19.2% 1.5% 0.7%
L W xR F 80,732 88.6% 10.3% 1.0% 0.1%
E311 d Bl 25,160 97.9% 1.8% 0.1% 0.3%
NFT I F LY 23,873 92.4% 5.0% 1.1% 1.5%
h = A F B 21,836 87.0% 10.7% 1.6% 0.7%
B H & D T 19,699 90.8% 8.2% 0.7% 0.2%
T A = h K< 15,440 91.9% 5.9% 1.8% 0.4%
T H MUY 12,810 69.5% 29.1% 1.1% 0.4%
D » < F AR 10,424 88.2% 10.0% 1.7% 0.1%
= = = 9,582 97.0% 2.4% 0.2% 0.4%
LD ELHE 9,348 74.0% 23.6% 2.2% 0.2%
H T = Y 8,408 88.5% 7.2% 0.7% 3.6%
T A 2 % Y 7,843 96.6% 2.8% 0.3% 0.3%
W b5 F F h 7,606 95.0% 4.6% 0.4% 0.1%
HTIF D EE 6,614 77.6% 19.3% 3.0% 0.2%
SLXxF—914— 4502 72.9% 23.8% 2.2% 1.1%
= I bH 5 2,494 41.1% 40.9% 18.0% 0.0%
2<IEsbD2%& 1,584 84.7% 13.6% 1.0% 0.7%
B X i 1,286 72.9% 25.2% 1.1% 0.8%
DR A GRIVA S | 943 87.6% 4.5% 1.5% 6.3%
P S5 7= Ly 21 932 84.0% 13.0% 2.8% 0.2%
5 F & O Y 828 73.7% 25.6% 0.5% 0.3%
I ¢C s 6 =& 772 8.8% 58.7% 31.2% 1.2%
h T O B 766 78.7% 21.1% 0.1% 0.0%
v EH T 624 65.7% 29.3% 5.1% -
*x X B A Y 612 38.0% 50.0% 12.0% -
¥ A & @Y 543 93.8% 6.1% - 0.1%
B E 0 U 496 88.4% 9.4% 1.5% 0.8%
[ N = R B 4 313 7.4% 91.3% 0.6% 0.7%
4 9 B H Y 271 68.3% 31.5% 0.2% -
Iz Z T 5 254 96.1% 3.2% 0.7% -
NATYyRESTS538 220 75.9% 24.1% - -
x5 & O # 209 85.2% 9.8% 4.9% -
& DO v Y 202 100.0% - - -
& kK B F 158 47.1% 37.5% 12.9% 2.5%
hEH-FbH 153 67.9% 20.9% 5.9% 5.3%
x # H L 122 15.5% 80.7% 3.8% -
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2 SWRIHE (FRRE)

(BAL: k)

fniE & BEHE 1 % 2 % 3 = PSRN
kil B n 121 37.9% 62.1% - -
I z2 & & 115 93.2% 4.4% 2.4% -
& ] 104 - 8.9% 91.1% -
2 - T b 95 17.4% 74.7% 7.9% -
¥ X £ 92 - 53.5% 46.5% -
F & 9 » 5 88 64.0% 36.0% - -
v FE £ b b 80 - 100.0% - -
w0 b 0 E 47 25.9% 41.1% 28.1% 4.8%
w oo F Y 41 3.1% 67.7% 29.2% -
E A & T W 34 48.8% 33.8% 17.4% -
RO S ) 20 100.0% - - -
& L] [0} 10 - 59.5% 31.1% 9.5%
X =& - = A 7 14.1% 85.9% - -
Y & 4 100.0% - - -
MmAHYY v b 4 - 47.2% 52.8% -
E h v v % 4 100.0% - - -
Eh U FH R 3 77.8% 22.2% - -
E i 5 3 - 100.0% - -
E M 2 1 B 3 63.3% 36.7% - -
2 2 t H Y 3 100.0% - - -
E &% 1 B 2 78.9% 21.1% - -
B Hh b £ A 1 - - 100.0% -
z ) ith 9,010 37.7% 19.2% 7.9% 35.2%
KFEIDHLXKE 647,102 81.8% 15.5% 1.6% 1.1%
KiEHsd H XK 39,903 57.3% 37.3% 4.4% 1.0%
(B b)

BEHE % L T E 1 % 2 =% 3 = Higs
B s A x X 17,294 - 0.4% 84.8% 13.0% 1.4% 0.5%

(Bfir: b))

(555 456 -BERRT K|  704,299)

3 AR AXERYME (B4 b))

BREHE =i &S
fl # At A 1,501 100.0% -
f B B & X 30,899 100.0% 0.0%




[HOFEXRFRERER( #1iH )
(HM6E12A318IR#AE)

I BREHR

- 12A31BIREDKIEIZDELXDRENEIL 395.3 Fho 1HEHFE(L 774 BIZH-TLVET,
- 2ELITFICKRGFINE-EHEBEHIE. BRAEA 559 %, ILEM 212 %, BERHAH 123 %, HERAH 95 %
ElEHTUWVET,

I REHE

1 KIESDEXK (FRREHRE) (BfL: b)
F 3 REHE 1% 2 % 3 F HiEs
6 F E 395,284 77.4% 19.9% 1.7% 0.9%
5 & E 407,227 15.6% 47.1% 34.3% 2.9%
4 £ E 410,819 74.8% 23.7% 0.8% 0.7%
3 & E 415,038 79.1% 19.4% 1.0% 0.5%
2 F E 428,444 72.9% 25.0% 1.5% 0.6%
T F E 431,322 36.6% 54.3% 7.8% 1.2%

CEHBMEEICLIREREZRIV-EETT .
CE2) TEEMNGSEEICOVTIE, AFHOBREERETY,
CER) SV DEBRTHENRDEHDN—HBLLBENIEAHYET (LLTRIL)

2 HWARIEE (FHRRE) (B b))
aniE BREH=E 1 % 2 % 3 = Higs
a Y e A Y 232,796 73.1% 24 6% 1.8% 0.5%
L o = 80,732 88.6% 10.3% 1.0% 0.1%
b3l Z B 25,160 97.9% 1.8% 0.1% 0.3%
h = A F & 21,836 87.0% 10.7% 1.6% 0.7%
o T H Y 8,926 61.1% 37.0% 1.5% 0.4%
CLpELHE 8,510 72.1% 25.3% 2.4% 0.2%
H T IF D EE 6,614 77.6% 19.3% 3.0% 0.2%
SLExF—94—2 1,948 53.0% 41.4% 3.9% 1.7%
5 F & O Y 828 73.7% 25.6% 0.5% 0.3%
h = 0 766 78.7% 21.1% 0.1% 0.0%
1 C S 6 & 702 3.4% 62.3% 33.0% 1.4%
H = £ b b 671 32.8% 59.9% 7.2% 0.1%
¥ A & @Y 543 93.8% 6.1% - 0.1%
* X B A Y 458 21.6% 62.4% 16.0% -
v & H T h 371 73.9% 25.5% 0.5% -
[ N = Ly B o4 313 7.4% 91.3% 0.6% 0.7%
X A& DO # 199 84.5% 10.3% 5.2% -
x M H L 122 15.5% 80.7% 3.8% -
HhEH-FbH 119 77.8% 22.2% - -
T X & 92 - 53.5% 46.5% -
& ] 84 - - 100.0% -
v F E b b 80 - 100.0% - -
o E] i 56 - 100.0% - -
W 0 b5 0O = 47 25.9% 41.1% 28.1% 4.8%
B o " s Y 41 3.1% 67.7% 29.2% -
2 - - 5 24 4.8% 95.2% - -
E A £ T W 17 15.8% 48.9% 35.3% -
& = 1 - = A 6 - 100.0% - -
m Y F 4 100.0% - - -
MmaAarYYJ v b 4 - 47.2% 52.8% -
& 5] [0 4 - 21.4% 72.9% 5.7%
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2 SWRIHE (FRRE)

(BAL: k)

fniE & BEHE 1 % 2 % 3 = gt
= N i 3 77.8% 22.2% - -
E it 33 3 - 100.0% - -
2 &% 1 5 2 78.9% 21.1% - -
i z2 & = 2 100.0% - - -
KFEDD5H K KE 395,284 77.4% 19.9% 1.7% 0.9%
KiHbE X XK 31,981 55.2% 39.4% 4.3% 1.1%
(B b))
BEHE L T E 1 % 2 % 3 = g
B & A &k X 10,344 - 0.3% 80.9% 16.4% 1.7% 0.7%
(B b))
[526-45-BEmBKkE]|  437,609]
3 FHAXERYE (B b))
BREHE =X JSTR A
AL A& 654 100.0% -
i o# A X XK 15,143 100.0% 0.0%




SHOEEAXBREHLR( EWL )
($F6E128318IF#E)

I BREHR

- 12A31BIREDKIEIZELXDRENEIL 1075 Fho, 15EHFE(L 89.5 BIZH-TLNET,
- 2% TR ITENE=EARIEAIL, BRI 41.9 %, BH R E 288 %, BB 17.7 %. HHEHIA 10.6 %

ElEHTUWVET,

I REH#H=

1 KIESDEX K (FRREHE) (B b))
F 5 BREH= 1 % 2 % 3 =% Higsn
6 &£ B 107,470 89.5% 8.5% 1.3% 0.7%
5 % 110,488 60.6% 33.3% 5.6% 0.5%
4 % B 118,288 86.8% 11.7% 0.9% 0.6%
3 & E 120,266 93.5% 5.4% 0.5% 0.5%
2 F E 130,587 89.5% 9.1% 0.9% 0.5%
T F E 124,623 85.3% 13.2% 0.9% 0.6%

CEHBMEEICLIREREZRIV-EETT .
CE2) TEEMNGSEEICOVTIE, AFHOBREERETY,

CER) SV DEBRTHENRDEHDN—HBLLBENIEAHYET (LLTRIL)

2 SWBHE FRRE)

(B b))

iz REHE 1 % 2 % 3 % g
a ¥ b H 66,608 89.3% 9.6% 0.8% 0.3%
T A = h K< 15,440 91.9% 5.9% 1.8% 0.4%
= = = 9,582 97.0% 2.4% 0.2% 0.4%
T A 2 % Y 7,843 96.6% 2.8% 0.3% 0.3%
2<IEsbD2%& 1,584 84.7% 13.6% 1.0% 0.7%
H = £ bH b 1,546 34.8% 39.4% 25.9% -
SLXxF—914— 1,365 92.0% 6.5% 0.9% 0.6%
P S5 7= 21 929 83.9% 13.1% 2.8% 0.2%
o T H Y 815 84.5% 15.3% 0.2% -
Iz Z T 5 128 100.0% - - -
HhEHE-FbH 23 - 24 4% 39.9% 35.7%
v H T N 19 100.0% - - -
H = & N Y 11 100.0% - - -
& 5 11 - - 100.0% -
2 - - 5 7 - 100.0% - -
& D v Hh Y 5 100.0% - - -
E A E T W 3 100.0% - - -
B H b £ A 1 - - 100.0% -
B N & 1 - 100.0% - -
2 9 B H Y 1 100.0% - - -
& ] [6) 1 - - - 100.0%
z ) ith 1,548 57.5% 14.6% 6.7% 21.2%
KFEESDH K KE 107,470 89.5% 8.5% 1.3% 0.7%




2 SWRIHE (FRRE)

(BAL: k)

fniE & BREHE 1 % 2 % 3 = BRIg s
KiEHbd R XK 3,996 67.8% 27.6% 4.1% 0.5%
(B )
BREHE % L T OE 1 % 2 = 3 = Higs
B = A x X 3,163 - - 94.4% 5.0% 0.5% 0.0%
(B bo)
(555 456 -BERRT K|  114,628]
3 R AXERME (B b))
BREH=E =i A&
AL & 812 100.0% -
i F A X XK 6,699 100.0% -




I BREHR

SHOEEXRBREHLERC B )
($F6E128318IF#E)

- 12A31BIREDKIEIZDELXDRENEIL 740 T, 15 E(L 87.8 WIZH-TLVET,
- 2E LTI IFEINE=TREBHIE, BRAN 461 %, HEHIH 198 %, BHFEH 19.0 %, BEH 128 %

ElEHTUWVET,

I ®REHE

1 KFESIDEXK (FREEHE) (Bf3L: o)
F 23 BRENE 1 % 2 % 3 % st
6 F &E 74,020 87.8% 10.0% 1.6% 0.6%
5 &£ B 78,181 79.4% 18.3% 1.8% 0.5%
4 F E 78,436 82.5% 15.7% 1.4% 0.4%
3 & @& 81,126 91.0% 8.0% 0.6% 0.4%
2 & E 80,259 87.2% 10.8% 1.3% 0.7%
T FOE 80,163 84.0% 14.2% 1.2% 0.7%

CENEBEEICLOREREZRV=EETT,
CE2) TEEMSSFEICOVTIE. AP OBREERETT,
CEI) SV DEBRTHENRDEHL —HBLLENIENHYET, (LLTRL)

2 SBWARIHE (FlRiRE)

(BAL: )

iz 4 BREYE 1 % 2 % 3 % Higst
a3 Y kb A Y 35,798 88.0% 10.4% 1.3% 0.3%
B & & DO (F 19,699 90.8% 8.2% 0.7% 0.2%
O v < F A 10,424 88.2% 10.0% 1.7% 0.1%
T H MUY 2,278 89.4% 10.2% 0.3% 0.2%
NFT I FE Y 1,140 86.0% 9.2% 4.2% 0.6%
TLDELHE 838 93.5% 6.4% - 0.0%
e e B2 584 74.7% 23.0% 1.9% 0.4%
BE ZE 0 MY 496 88.4% 9.4% 1.5% 0.8%
H = £ b b 276 96.8% 3.2% - -
E kK B F 158 47.1% 37.5% 12.9% 2.5%
0B F A 156 58.8% 24.6% 16.5% -
H VN 5 127 99.4% 0.6% - -
Iz Z * 5 55 85.1% 11.7% 3.2% -
2 - CZ b 39 - 100.0% - -
E A E T W 14 77.0% 23.0% - -
HhEHE-FbH 11 100.0% - - -
X H O # 10 100.0% - - -
& ] 9 - 100.0% - -
B S5 F 21 4 100.0% - - -
E % 2 1 & 3 63.3% 36.7% - -
z ) ith 1,899 58.8% 14.3% 12.8% 14.1%
KFEDIDH K KE 74,020 87.8% 10.0% 1.6% 0.6%




2 SWRIHE (FRRE)

(BAL: k)

fniE & BEHE 1 % 2 % 3 = BRIg s
KiEHbd R XK 2,424 53.9% 38.1% 7.0% 1.0%
(B )
BEHE % L T OE 1 % 2 = 3 = Higs
B = A x X 1,141 - 1.8% 80.5% 16.7% 0.7% 0.2%
(B bo)
(555 45 - BEE AL K| 77,584]
3 R AXERME (B b))
BREH=E =i A&
AL & 32 100.0% -
i F A X XK 2,570 99.5% 0.5%




I BREHR

FHOFEXRFRERR( 8HF )
(HM6E12A318IR#AE)

- 12A31BIREDKIEIZDELXDREYNEIL 703 T, 15 FE(L 88.2 BIZH-TLVET,
- 2ELITFICKRFFINE-THEBHIE. BRAEN 428 %, BRI 268 %, LEH 174 % HERA 1.7 %

ElEHTUWVET,

I REH#H=

1 KIESDEX K (FRREHE) (B b))
F 5 BREH= 1 % 2 % 3 =% Higsn
6 &£ B 70,329 88.2% 7.4% 1.2% 3.1%
5 £ B 69,857 83.7% 11.1% 2.2% 3.1%
4 % B 73,353 87.6% 7.0% 1.8% 3.6%
3 F E 73,010 91.0% 4.5% 0.6% 3.9%
2 &£ E 74,308 84.8% 9.9% 1.6% 3.7%
T F E 75,192 85.0% 9.7% 1.4% 3.8%

CEHBMEEICLIREREZRIV-EETT .
CE2) TEEMNGSEEICOVTIE, AFHOBREERETY,
CER) SV DEBRTHENRDEHDN—HBLLBENIEAHYET (LLTRIL)

2 SWBHE FRRE)

(B b))

iz REHE 1 % 2 % 3 % g
a Y kb A Y 24,351 88.2% 6.9% 0.8% 4.1%
N+ T FE Y 22,732 92.7% 4.7% 1.0% 1.5%
H =T = Y 8,397 88.5% 7.2% 0.7% 3.6%
W b5 F F h 7,606 95.0% 4.6% 0.4% 0.1%
B N i 1,158 70.1% 27.8% 1.2% 0.8%
2 G AR ) 943 87.6% 4.5% 1.5% 6.3%
T H MUY 791 91.2% 8.4% 0.1% 0.3%
S i e e 606 92.5% 6.5% 0.1% 0.9%
4 9 B H Y 271 68.3% 31.5% 0.2% -
NATYYRESTS538 220 75.9% 24.1% - -
& DO v Hh Y 197 100.0% - - -
F X b #H Y 154 87.0% 13.0% - -
Iz z2 & = 113 93.1% 4.5% 2.4% -
F & 9 » & 88 64.0% 36.0% - -
0B F N 78 31.6% 63.5% 4.9% -
Iz Z * 5 71 97.5% 2.5% - -
I C s 6 5 70 63.4% 23.0% 13.6% -
o B n 65 70.2% 29.8% - -
2 - T b 25 60.6% 9.6% 29.8% -
R S ) 20 100.0% - - -
& ] [6) 5 - 100.0% - -
E 7 v v 4 4 100.0% - - -
2 9 B H Y 2 100.0% - - -
= 1F - = A 1 100.0% - - -
z D ith 2,363 36.9% 32.7% 10.4% 20.1%
KEESEH K KE 70,329 88.2% 7.4% 1.2% 3.1%
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2 SWRIHE (FRRE)

(BAL: k)

fniE & BEHE 1 % 2 % 3 = PSRN
KiEHbd R XK 1,502 81.2% 17.0% 1.6% 0.2%
(B )
BEHE % L T OE 1 % 2 = 3 = Higs
B = A x X 2,646 - 0.4% 90.3% 7.7% 1.5% 0.2%
(B bo)
(55545 -BERLRXEH] 74,477|
3 R AXERME (B4 b))
BREH=E =i A&
AL A 3 100.0% -
i F A X XK 6,488 100.0% 0.0%
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